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QUESTION 1

Refer to the exhibit. 

The vPC neighborship between two switches is in suspended state. Which configuration change resolves the issue and
brings up the vPC neighborship? 

A. Change STP Port Type to Network on the peer switch 

B. Enable Bridge Assurance on the local switches 

C. Configure QoS MTU value of 9216 on the peer switch 

D. Add VLAN 400-401 to the configuration on the local switch 

Correct Answer: C 

Reference: 

https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus5000/sw/troubleshooting/
guide/N5K_Troubleshooting_Guide/n5K_ts_vpc.pdf 

 

QUESTION 2

An engineer troubleshoots FCoE on a Cisco MDS 9000 Series Switch. What does this output indicate about port
channel 1? 
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A. Port channel 1 is configured to connect to an NPIV switch. 

B. Port channel 1 is configured to be an ISL. 

C. Port channel 1 is configured to connect to an NPV switch. 

D. Port channel 1 is configured to connect to a host bus adapter. 

Correct Answer: B 

 

 

QUESTION 3

Refer to the exhibit. 
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An engineer is troubleshooting the connectivity between Server-1 and Server-2. Which action resolves the connectivity
issue? 

A. Enable BGP advertise pip feature on both leaf switches 

B. Configure the same source IP address on NVE and virtual peer link on leaf switches 

C. Classify CFS messages for strict priority queue on spine switches 

D. Change all ports on spine switches as port-type fabric 

Correct Answer: A 

Reference: https://www.cisco.com/c/en/us/td/docs/dcn/nx-os/nexus9000/101x/configuration/vxlan/cisco-
nexus-9000-series-nx-os-vxlan-configuration-guide-release-101x/m_configuring_vpc_multihoming.pdf 

 

QUESTION 4

Refer to the exhibit. 
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An engineer discovered a VFC interface in a down state on a Cisco Nexus Switch. Which action resolves the problem? 

A. Change the cable between the switch and the server 

B. Reset the Cisco Nexus port toward the file server 
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C. Update the CNA firmware and driver versions 

D. Modify the fip keepalive message time to 30 seconds 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus5000/sw/troubleshooting/guide/N5K_Troub
leshooting_Guide/n5K_ts_fcoe.html 

 

QUESTION 5

Refer to the exhibit. 
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The OTV adjacency fails to come up. Which set of commands on each switch resolves the issue? 

A. otv extend-vlan 5 otv site-vlan 5 

B. otv extend-vlan 5 no otv site-vlan 5-10,11 

C. otv extend-vlan 5 no otv extend-vlan 11 

D. no otv site-vlan 5,10-11 otv site-vlan 5 

Correct Answer: D 
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